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# 360 ha # 33.8%
s EEEGESMms | 79 360 ha [ 8/10 BT | 5/10 AT — — 10m | # 338%
# 87 ha | 8/10 BF | 5/10 BT — — 12m | #  08%
% 369 ha £ 34.6%
N 5 # 369 ha ¥ 34.6%
# 102 ha | 8/10 BF | 5/10 BT — — 10m | #  1.0%
E-BEECESASE

# 03 ha | 8/10 BF | 5/10 BT — — 12m | # 003%
N B | % 10 ha o 1.0%
# 43 ha o 40%
F—ETSEEEERhE ] 43 ha 20/10 &F 6/10 4T — — f— ] 4.0%
F_RETESEERERhE ) 5 ha 20/10 T 6/10 LT — — — b 0.5%
# 241 ha % 22.6%
% — R M B | & 241 ha | 20/10 XF | 6/10 UF — — — # 226%
# 46 ha ¥ 43%
% "R M B | 4 46 ha | 20/10 XF | 6/10 UF — — — Hoo43%
#£ fF B B | % 38 ha | 20/10 XF | 6/10 UF — — — # o 3.6%
# 18 ha Hoo1T%
OB W % #h B | % 18 ha | 20/10 T | 8/10 MF — — — Hoo1T%
# 8 30/10 UF | 8/10 UF — — — # o 0.8%
N E | # 26 ha o 25%
B % #h | % 41 ha | 40/10 T | 8/10 WF — — — # o 3.8%
£ I % # B | % 92 ha | 20/10 XF | 6/10 UF — — — o 8.6%
I % # B | % 74 ha | 20/10 XF | 6/10 UF — — — # o 6.9%
T % 5 A # B | % 81 ha | 20/10 UF | 6/10 UF — — — “o7.6%
& & % 1,066 ha 100.0%
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# 284 ha # 0 31.1%
E-REBTESRAE | 9 284 ha [ 8/10 UT | 5/10 UF — — 10m | 1 31.1%
# 87 ha| 8/10 F | 5/10 LT —_ — 12m | #1 1.0%
#5293 ha # 32.1%
N | #5293 ha 1 32.1%
#9 78 ha| 8/10 T | 5/10 UF — — 10m | #5  09%

FE_IEEBEEEAE
# 03 ha| 8/10 1F | 5/10 LT — — 12m | #1 0.03%
N % 81 ha #0.9%
# 37 ha #Ho40%
E-EPEREREAME | # 37 ha | 20/10 X F | 6/10 UF — _ _ ¥H40%
EEPEEEEEAME | 0 ha | 20/10 &1 F | 6/10 WT — — — ¥ 00%
# 213 ha # 23.3%
B - B ER M | 213 ha| 20/10 &TF | 6/10 UF — — — 1 23.3%
#1 46 ha ¥ 50%
FE IR o | # 46 ha | 20/10 KT 6/10 UTF — — _ ¥ 5.0%
# F B # #[# 28 ha | 20/10 UF | 6/10 UF — — — #3.1%
# 74 ha # 0.8%
OB O™ X o= 74 ha | 20/10 UT | 8/10 KT — — — 0  0.8%
80 30/10 LF | 8/10 LT — — — ¥ 09%
N 28 15 ha #oo17%
] ¥ ih B | # 41 ha | 40/10 1F | 8/10 UF — — — . 45%
# T % b = |[# 78 ha | 20/10 T | 6/10 T — — — ¥ 85%
I E #h bl I 74 ha | 20/10 LT 6/10 UTF — — — 8 8.1%
I ¥ 5 B # & |#H 81 ha | 20/10 LT 6/10 LT — — — . 8.9%
= il # 914 ha 100.0%
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1 5 | & w| SEEO | BEMO | mmmo | mwmm | OFC | mumE
= PR DEIERE & (EbZR)
# 76 ha 8/10 LIF 5/10 LLF — — 10m | %9 50.0%

FE—EEEREEERAE
# 0 ha | 8/10 UTF 5/10 T — — 12m | 1 0.0%
7\ i 76 ha #9 50.0%
# 24 ha| 8/10 UF 5/10 UF — — 10m | # 1.6%

E_HEERBIEERAMmSE
# 0 ha 8/10 LIF 5/10 LIF — — 12m | 5 0.0%
7\ % 24 ha ¥ 1.6%
E—RhEEEEEMAME | 89 64 ha | 20/10 AT 6/10 LUF —_ — 9 4.2%
E_RhEEBEREMAE | 89 4.6 ha | 20/10 UTF 6/10 LT — — — 9 3.0%
£ - B X R E|#H 28 ha | 20/10 UF 6/10 LT —_ — — #9 18.4%
EFZRBEERE 8|8 0 ha | 20/10 LF 6/10 LT — — — # 0.0%
# & B # #H ([ 98 ha | 20/10 &TF 6/10 LT —_ — — 9 6.4%
% 11 ha | 20/10 UF 8/10 KT — — — ¥ 7.2%

OB B X o
% 0 ha | 30/10 F 8/10 LT —_ — — 9 0.0%
7\ it %8 11 ha ¥ 7.2%
5] ¥ #h b I | 0 ha | 40/10 UF 8/10 LT —_ — — 9 0.0%
# T % # #@(|# 14 ha | 20/10 LT | 6/10 LF — — — 9 9.2%
T ¥ #h bl I | 0 ha | 20/10 F 6/10 LT —_ — — 9 0.0%
I ¥ 5 A # &5 |#H 0 ha | 20/10 LIF 6/10 LT — — — 5 0.0%
& | # 152 ha 100.0%
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